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3.09m 2,600 2,600 0
4. 02 B 20 240 240 0
3. [=]uFHE 5,787 5,787 0
1. dnkpgn) 400 400 0
2.0n 4,667 4,667 0
3. ARk - Fx0m] 720 720 0
2. BARFALT LA 14,655 13,200 1,455
LIF1HFAY 338d 2 ANFTHS5,780 5,780 0
1.3718% 4,200 4,200 0
2. A8 ER 600 600 0
3.48H 500 500 0
4 71E} T RH 480 480 0
2. [F 1A AEAgH A 2,220 2,220 0
1. kg1 2,220 2,220 0
3. [FIFAAED 6,655 5,200 1,455
1. G981 2,500 2,500 0
2.9 1,200 1,200 0
3. HETYGH] 2,955 1,500 1,455 S84 1 1,455,000913]= 1,455,000
7.3k A F-EE 1,913 0 1,913
1.9k 83 870 0 870
198k 870 0 870
1. [z]9rsk= 870 0 870
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20208H A = M=o AE AN

Lorsiz 870 0 870 ‘;rj]"i’ﬂ’\]ﬂx‘ﬂﬂﬂﬂ]o]ﬁﬁ] © 565,820 1 566,000

ExAEARIAN] ¢ 303,38099%13]= 304,000
2. ou) ] 1,043 0 1,043
1. <jnjn] 1,043 0 1,043
1L[&]FALeu)n 1,043 0 1,043

1.¢u]H] 1,043 0 1,043| elm]B] : 1,043,0009%13]= 1,043,000
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